

$$\log_{1/r}^1 = \frac{\log_r^1}{\log_r^{1/r}} = \frac{\log_r^1 + \log_r^r}{\log_r^r + \log_r^r} \xrightarrow{\log_r^1 = 0, \log_r^r = \frac{1}{\omega}} \log_{1/r}^1 = \frac{r+1}{1+r, \omega} = \frac{r}{r, \omega} \quad \text{②}$$

$$= \frac{1\omega}{1r}$$

$$\log_{1/\omega}^r = \frac{\log_r^r}{\log_r^{1/\omega}} = \frac{\log_r^r + \log_r^r}{\log_r^r + \log_r^r} \xrightarrow{\log_r^r = 1/r, \log_r^r = \frac{1}{1/r}} \log_{1/\omega}^r = \frac{1 + \frac{\omega}{\lambda}}{1\omega + 1} \quad \text{④}$$

$$= \frac{1/r}{1/\omega} = \frac{1\omega}{r}$$

$$\log_{1/r}^{1/r} = \log_{1/r}^r + \log_{1/r}^r = 1 + \log_{1/r}^r \quad \text{⑤}$$

$$m = \log_{1/\lambda}^{1/r} = \frac{\log_r^{1/r}}{\log_r^{1/\lambda}} = \frac{\log_r^r + \log_r^r}{\log_r^r + \log_r^r} \Rightarrow m = \frac{\frac{1}{r} + r \log_{1/r}^r}{\frac{1}{r} + 1} \quad \text{⑥}$$

$$\frac{r}{r} m = \frac{1}{r} + r \log_{1/r}^r \rightarrow \frac{r m}{r} = \frac{1}{r} + r \log_{1/r}^r \rightarrow \log_{1/r}^r = \frac{r m}{r} - \frac{1}{r} \quad \text{⑦}$$

$$\log_{1/r}^{1/r} = 1 + \frac{r m}{r} - \frac{1}{r} = \frac{r}{r} (m+1) \quad \text{⑧}$$

$$\left(\frac{1/r\omega}{\lambda}\right)^{1/r} = \left(\frac{\omega^r}{r^r}\right)^{1/r} = \left(\frac{r}{\omega}\right)^{-r/r} = (\log_{1/r}^r)^{-r/r} \quad \text{⑨}$$

$$-r m r = r m - 1 \rightarrow r m r + r m - 1 = 0 \rightarrow m = -1/r, m = \frac{1}{r} \quad \text{⑩}$$

$$\log_{1/\lambda}^{1/r} = \log_{1/r}^r = \frac{r}{r} \log_{1/r}^r = \frac{r}{r} \quad \text{⑪}$$

$$\log_{1/\lambda}^b = \frac{r}{r} (1 + \log_{1/r}^r) = \frac{r}{r} (\log_{1/r}^r + \log_{1/r}^r) = \frac{r}{r} \log_{1/r}^r = \log_{1/\lambda}^{r/r} \rightarrow \quad \text{⑫}$$

$$b = r/r \rightarrow \log_{1/\lambda}^{(r/r) \times (r/r)} = \log_{1/\lambda}^{100} = r \quad \text{⑬}$$

۲۰

تاریخ: ۲۳/۱۰/۱۳۹۸

نام و نام خانوادگی: ...

$$[b] = ? , a > 0, \log_{mn}^{m^n} = b, \log_n^m = a \quad (1)$$

$$m = n^a \rightarrow \log_{mn}^{m^n} = \log_{n \cdot n^a}^{n^{a \cdot n}} = \log_{n^{a+1}}^{n^{a \cdot n}} \Rightarrow \frac{a \cdot n}{a+1} = b \quad (2)$$

$$\rightarrow b = \frac{a+1}{a+1} + \frac{a}{a+1} = 1 + \frac{a}{a+1} \xrightarrow{a > 0} 0 < \frac{a}{a+1} < 1 \rightarrow [b] = 1$$

$$الف) y = \sqrt{\frac{n}{\log \frac{n}{1}}} \rightarrow (1) \frac{n}{\log \frac{n}{1}} \xrightarrow{y, a} \frac{0}{0} + \frac{1}{0} = - \quad (2) n > 0$$

$$(1) \cap (2) \rightarrow D_y = (0, 1)$$

$$ب) y = \frac{\log_k^{(n^2 - n - 1)}}{\sqrt{n^2 - 1} + 1} \rightarrow (1) n^2 - n - 1 > 0 \rightarrow \frac{-1}{2} < \frac{1}{2}$$

$$(2) n^2 - 1 > 0 \rightarrow n^2 > 1 \rightarrow n > 1 \cup n < -1, (3) \sqrt{n^2 - 1} + 1 \rightarrow \text{همیشه مثبت است}$$

$$(1) \cap (2) \rightarrow D_y = (-\infty, -1) \cup (1, +\infty)$$

$$۲ \log_a^a + \log_a^b = 2 \rightarrow$$

$$\log_a^a + \log_a^b = 2 \rightarrow \log_a^a + \frac{1}{\log_a^b} - 2 = 0 \xrightarrow{\log_a^a = t} t + \frac{1}{t} - 2 = 0$$

$$t^2 - 2t + 1 = 0 \rightarrow t = 1 \rightarrow \log_a^a = 1 \rightarrow a = 1$$

$$\log^a = 2 \log^b \approx 0,11, \log^a = \log^b + \log^a \rightarrow \log^a = \log^b \rightarrow (3)$$

$$\log^b = \log^a - \log^b \rightarrow \log^a = 1 - 0,11 = 0,89 \rightarrow \log^b = 0,11 + 0,89 = 1$$

$$\log^a = \log^b - \log^b = 0,89 - 0,11 \approx 0,78 \rightarrow$$

$$0,11 n^2 + 0,11(n - 1) = 0 \rightarrow a + b + c = 0 \rightarrow n = -\frac{11}{11}, n = 1 \rightarrow$$

$$D = \frac{11}{11} - (-\frac{11}{11}) = \frac{11}{11}$$

10

$$\frac{ra}{b} = r \log^r \rightarrow \frac{ra}{b} = \log^r \rightarrow b = \frac{ra}{\log^r}, \quad b + \frac{c}{r} = a \rightarrow c = r(a - b)$$

$$\frac{c}{a} = \frac{ra - b}{a} = r - \frac{b}{a} = r - \left(\frac{ra}{\log^r} \times \frac{1}{a} \right) = r - \frac{r}{\log^r} = r \left(1 - \frac{1}{\log^r} \right) = r - r \log^{-1/r}$$

s.a.m

$$= r - r \log^{-1/r} \rightarrow \frac{1}{\sqrt[r]{r}} = (r^{-1/r})^r - r \log^{-1/r} = (r^{-1/r})^r (1 - \log^{-1/r}) \rightarrow$$

$$r^{-\frac{1}{r} \log^{-1/r}} = r \log^{-1/r} \rightarrow \omega \log^r = \omega^{\frac{1}{r} \log^r} = \sqrt[r]{\omega}$$